Lezioni 7 - 8

Disequazioni goniometriche.

IN AULA.
A) Elementari.
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1. s1nx>5 S= [%+2kn<x<2n+2kn}
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7. tanx<V3 S=[—%+krr<x<%+krr}
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13. 2sin“x>1 S= Z+k7‘r<x< T+kTT

15. 0<sin xsg S={2kn<x<%+2kn]U(%T(+2krr<x<rr+2k1r}



B) Varie.

1. 2cos’x+3cosx—2>0

2. tanx(tanx—1)<0

3. 2cos’x<sinx+1

4, sinx+cosx<0

5. cosx—sinx<\/§
6. sinx+2cosx>1
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7. s1nxcosx§z

8. 3cos’x+sin’x—5cosx+1<0
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10. sin x>sin x|

S=[2k1‘r$x<%+2kn]u[%Tr+2krr<x321r+2krr}

S=[k1r<x<%+krr]

S= %+2kn§x§ 1T+2k7T\/x=%Tr+2kTr]
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S=[%Tr+2krr<x<%rr+2kn}

S= —E+2k7TSxSE+2kTF
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S={2k1‘r<x<7'r+2k1r}

S={2krr<x<Tr+2kTr,x¢%+2kTr]



PROPOSTE lezioni 7-8.

Risolvere le seguenti equazioni e disequazioni.

10.

11.

12.

13.

14.

15.

16.

1 1 s T
—_< <— ={ —_— —_
2_Cosx_2 S [ 6+kTr<)c< —|—k7‘r]
T
|2cosx|>\/§ S=[—g+k7r<x<—+krr}
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2|s1nx|>\/§ S=[?+k1r<x<§rr+krr]
|tanx|>1 S= E—|—k7‘r<x<§'rrJrk'rr/\x;rEE%—kTr
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2sin’x—sin x>0 S={(2k+1)Tr<x<2(k+1)V%+2kn<x<%7‘r+2k1‘r]

2cos’x+3cosx+1>0 S=[2kn§x<%n+2knlu[%+(2k+ 1)1T<x§2(k+l)rr]

V3 cos’ x+3cosxsin x>0 S=-=, 2 |u iTr,iTr , periodo 2Tt
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|1+ cosx|<1—sinx S= Z7T+2k7T<x<Z‘IT+2k1T
In (sin x)+In(cosx)+21n2=0 S={x=1r/12+k1‘r\/x=5/127'r+k1'r}

2tan x+cosx— >0 S=[%+2k7‘r<x<g+2knlu[%n+2kn<x<%7‘r+2kn}

4cos x
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cosx—sin x>0 S= Z7T+2k7T<x<ZTT+2k1T
sinx<v3(1—cosx) S=[%+2krr<x<2rr(k+l)]
Psinx+1] S=[x#m/2+2kn]
l—sinx

2tan x+cosx—

T T 5 3
O = — -_— -_ -
4cosx> S [6+2k7'r<x<2+2kn]u[6n+2kn<x<2rr+2kn}

sin x+cos x=12 S={x=%+ 2k7'r]={x=2-arctan(\/§—1)+2krr}
nota .'(tanrr/8=\5—1)

: 3 T .
sin(x)+2cos(x)>1 S=[x€IR|arctan(—Z)<x<5, periodo=2 ‘IT]

o0 anche S=[xEIR|—2'arctan(%)+2kTr<x<Tr/2+2kTr]



